i [ e #47 8%
K |(505304)] 1200LX600WX8 10HX13.0] |
1500 Z5/FR_|(SU5304)[590x550Xt 1.5 2
05 1450 o5 HR |(SUS304)] 150X600X 2. 0 ]
5 1200 s 28 |(SUS304)[5400 X2 30W 2E5mnE AEs6) |
BZhv7 |(5US304)|580LX230WX200HX 1.5 | 1
50 (-8 ANE |(5US304)] T00AXA0L AR5 vk 1
129,[F 150 JEE  |(SUS304)| 100A WAST7oh w
@ F5978 | (PVC) |100VUDT f&D ]
&
— iz =i
~ AhEE 150 kg
— 5 ITEEE 255 |
o g B O, FRANE 9.2 /%
2 f — S VEER 12.7 L
ol ol © = —f7 I ANTW—“W*777 FALHELER 51.1 L
S| W] © — - - - - - -+ VA =
S8 e 1S i o WABAA 0 #a
o < FEE A O 7h
Qo
M| o
w
y . E: | ®
g : BE2 5780 % 1300 | 700
i _ = (%) BAZSTROTEORE NG - HE
[Tel . o
™ FMIBISU TRFOMEEEE OA&£EL BIOLTESL),
8 SmmB(SUS304) AR 4-¢12
(54v51/8E0. 75) @ 2.9 1) EANEAERT ,
125 150 (52) QOO BHLEAMERT .
\ R TL-28R] |
\ BETL-BE |
K, 85 15
Pkit7v7 F.B-15%x13.0
‘ Tr/ (305304) ol
J &l S % ﬁj O\t t3.2(55400) |
5 STy J65 147
S (¥ - SUS304) Gl mil g o 2 = '
,74',J,7777 g e S FE‘E ‘ <
g—"————— | w i
o o B ‘ B 71
S| | 278 F.e-20x13.0(sus304) || @Y wi || |] H N
o S =
© Ak t3,0(SUS304) ~ = iR 12.0 83| J =
“ 150 (ss504) | ] N \aer_toomassrr = S
BZnv7 t1.5(5U5304) — woovﬁ?ﬁpféu)swm =
g/ Q E— —

2FARRAAE | -25%25%3 (515304)

50

250 520

300

25/FR t1.5(5U5304)

1200

600

@

SUSEIA ATy
(NATHRAFRHE)

B GTS—191PDAAL
(B5) AR

B LA Tkt | B3

25710325




o &=
= firt=t
o SRR
m = o EaE
s i i
e | &
23 Gl Gl 2
= 0¢ T 0t O
4 35
0% 39
~ 1o
| e
o ~
irg K
/ =
|
o \ |
= n&ﬂ | n&ﬂ =
¥ P muu\/
[N 7 AUDM
s - e
= S ok
001 * 001 !
<r
3 007 g 203
(e}
01z S = -
e q 03
B g€ 7
| 4
| Ne}
<7 [ A G AN
9 Bl JW A E
| ! /\/\/7
”WHHHHHHHHHHHMMw
o y .
%/t + 4 7 hE -
<t
> Ny 0 ¥ [
g 3 P ol
O o
g © |l ]
- S a1
= e _l
omxw e = = = = = T
C = 3
I [ = S
g :w \\\\\\\\\\\ L: = 2
CO| [ee]
{114 N EIRD
I . I - &
F=——F ol| .- 2
|l 2 &
= 4
————— i
““““““““ o R
] -t 1 2
g g | iz 3. -
! < 2 o
@ 7WHHHHHHHHHHHHL7 2 Mw@
A | 3 [k
e
3 M= = mn 4 1< I i+ 8
2l e .
P - :
e VAN e & : B
< o o] @
3 QWWWNVJUHHWHUHHHMNHH& —

T-20

GTS—=19141L
2571

éié

12307

o=
~|<
~|o
=
Ul | 311
Z=
= [~—
|| oley
= |
A [
> |2
Q0|
[N
[QV/

FX
@
oj Mﬁm
R ,
N
Lo B
S| IS
+ 4d|
& H
5 R
N =
Gl
P

%




